a6apuTHble, yCTAaHOBOYHbIE U NPUCOEAUHUTENbHBbIE pa3Mepb! **

Tun DH L [HD|AC| P | S N E|C| B|H|A|K|T|M|F|G | H10 D |[BB|AB
130 |h31|d30|d24| d22 |d25| |11 |131|110| h |b10/d10/120 |d20| b1 | g d1 | 111 b11
1 2 3|14|5|6 |7 8 |9 (10[11 (12|13 |14 |15 (16 [17 | 18|19 |20 | 21|22

ANC80 M6x16 | 344 | 214 | 155|200 | 4x12 |[130| 40 | 50 |100| 80 |125| 10 | 3,5 |165| 6 [15,5| 10 | 19 | 130| 160

AMCO0S | M8x19 | 386 | 245 | 175|200 | 4x12 |130| 50 | 56 |100| 90 | 140 10 | 3,5 [165| 8 | 20 | 12 | 24 | 140|176

AVCI0L M8x19 | 408 | 245 | 175|200 | 4x12 |130| 50 | 56 |125| 90 |140| 10 [ 3,5 |165| 8 | 20 | 12 | 24 | 162| 176

AUC100L | M10x22 | 444 | 260 | 195|250 | 4x15 |180| 60 | 63 | 140|100 |160| 12 | 4,0 |215| 8 | 24 | 15 | 28 | 175| 200

AUC112M | M10x22| 470 | 300 | 220 | 250 | 4x15 [180 | 60 | 70 |140/112[190| 12 [ 4,0 [215| 8 | 24 | 14 | 28 | 180| 230

ANC132S | M12x28| 544 | 338 | 258 | 300 | 4x15 |230| 80 | 89 | 140132216 12 | 4,0 |[265| 10 | 33 | 17 | 38 | 224| 262

AMC132M | M12x28 | 584 | 338 | 258 | 300 | 4x15 | 230 | 80 | 89 | 178 132|216 | 12 | 4,0 |265| 10 | 33 | 17 | 38 | 224| 262

ANC160M |M16x36| 710 | 416 | 315|350 | 4x19 [250| 110|108 |210| 160|254 | 15 | 5,0 [300 | 12 | 37 | 20 | 42 | 260| 314

ANC160L | M16x36 | 755 | 416 | 315|350 | 4x19 | 250|110 | 108 | 254 | 160 254 | 15 | 5,0 |300 | 12 | 37 | 20 | 42 | 304|314

ANC180M | M16x36 | 803 | 451 | 356 | 350 |4x18,5/250 | 110 | 121|241 | 180|279 | 15 | 5,0 |300 | 14 |42,5| 22 | 48 | 304| 349

ANC180L | M16x36 | 839 | 451 | 356 | 350 |4x18,5/250 | 110 | 121|279 |180|279| 15 | 5,0 |300 | 14 |42,5| 22 | 48 | 340| 349

ANC200L | M20x42| 876 | 505 | 397 | 400 | 4x19 | 300| 110|133 |305|200|318| 19 | 5,0 |350 | 16 | 49 | 25 | 55 | 368| 388

ANC22584-8  M20x42 | 942 | 550 | 445|450 | 8x19 | 350 | 140 | 149 | 286 | 225|356 | 19 | 5,0 [400 | 18 | 53 | 28 | 60 | 368 431

ANC225M2 | M20x42 | 937 | 550 | 445|450 | 8x19 | 350|110 | 149|311 |225|356 | 19 | 5,0 |400 | 16 | 49 | 28 | 55 | 393| 431

ANC225M4-8 M20x42 | 967 | 550 | 445|450 | 8x19 | 350 | 140|149 311225356 19 | 5,0 [400 | 18 | 53 | 28 | 60 | 393|431

ANC250M2 | M20x42|1075| 613 | 484 | 550 | 8x19 | 450 | 140 | 168 | 349 | 250 | 406 | 24 | 5,0 |500 | 18 | 53 | 30 | 60 | 445| 484

ANC250M4-8 M20x42 1075/ 613 | 484 | 550 | 8x19 | 450 | 140 | 168 | 349 | 250 | 406 | 24 | 5,0 |500 | 18 | 58 | 30 | 65 | 445|484

ANC280S2 |M20x42[1176| 670 | 546 | 550 | 8x19 [ 450 | 140 | 190 | 368 | 280 | 457 | 24 | 5,0 |[500 | 18 | 58 | 35 | 65 | 485| 542

ANC280S4-8 M20x42 1176 670 | 546 | 550 | 8x19 | 450 | 140 | 190 | 368 | 280 | 457 | 24 | 5,0 |500 | 20 [67,5| 35 | 75 | 485| 542

AMC280M2 | M20x42[1231| 670 | 546 | 550 | 8x19 | 450 | 140 | 190 | 419|280 |457 | 24 | 5,0 |500 | 18 | 58 | 35 | 65 | 536| 542

ANC280M4-8| M20x42 112311 670 | 546 1 550 | 8x19 14501140119014191280 14571 24 15,0 1500 | 20 67,5/ 35 | 75 | 5361 542



YcTaHoBO4YHbIE pa3mepbl manoro ¢gnadua (IM2181, 3681)

MpucoeauHuTenbHbIE pa3mepsbl

Tun M N
1 2 3 4

ANC63 90 75 60
ANCT1 105 85 70
ANC80 120 100 80
ANC90 140 115 95
ANC100 160 130 110
ANC112 160 130 110
ANC132 200 165 130
ANC160 250 218 180




